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B {EBa/FF

— RYFEELH PCVH R EHsys NRFEME
RFFELE | #B/ VT
155 0.0034 9.7E-7TLLF (F7X0.21) 0.004
251 0.00018LLTF 8.3E-7LLTF (HFARIOLLTF) 0.0002
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#90.1LL(0.006)

T = R E (9 A S 43)

BT - {EBa/FF

RTFRE L5 PCVAH R &Hsys NRFEE
RFIFELE | #B/ VT
154 0.0020 9.9E-7LLF (%7 X0.18) 0.002
251 0.00025L4F 8.0E-7LL T (HFARL2LLTF) 0.0003
3I5H 0.00013 0.000045 9.1E-7UT (HFARI2LTF) 0.0002
451 0.00085LLF 0.0009
ait #90.1LLT(0.004)
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2.1 158D H =51

1.AAMERIERHR
DOEEH/\—N (B fZBg/cm®)

o Red
FREY 1B BlA: P (=3} 1l R | deAlLEEs 4 AMEERGAY
H 2 55 a9 LEB wFE [ 72408-A0 (6% )
e Cs-134| 4.7E-6 | 5.8E-6 | 2.3E-6 |ND(6.3E-6)| 4.7E-6 | ND(8.9E-7) DREH —H
Cs-137| 1.7E-5 | 1.8E-5 | 8.8E-6 |ND(9.9E-6)| 1.8E-5 | ND(1.3E-6)
. Cs-134| 7.2E-6 | 7.6E-6 | 6.8E-6 | 9.2E-6 | 6.8E-6 | ND(8.2E-7)
10/2
Cs-137| 2.5E-5 | 2.8E-5 | 24E-5 | 80E-5 | 2.5E-5 | ND(1.3E-6)
@PCVH R EHEsys
. PCVH A% #sys b3 - PCVIAEHEsys | =
% *EA | #%iE
RERE | i H O (Bg/cm?®) (m3/h) & i H O (Ba/cm?®) (m3/h)
L Cs-134 ND(1.8E-6) BIE | Kr—85 8.7E-1 21
Al [E] 21
Sl D/ (2= ) 10/2 | Kr-85 9.8E-1 21
Cs-134 ND(1.7E-6)
10/2 21 ‘ i
Cs—137 ND(2.9E-6) FFOHEEHEETEIFER

2EBEH/N\—RiREFH
8,773m%/h (9/9~10/2)
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PCVAH X H A(Kr)
PCVA AH OKr# [E<IF =)
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@PCVH AE Hsys

(EHOATERHERENHDIESIL. Cs134+Cs 13T FHENA—BE L VEFREIEA)

(9.2E-6+3.0E-5) x 8773 X 1E6 X 1E-8
(1.7E-6+2.9E-6) x 21E6 X 1E-8
(9.8E-1) X21E6 X 1E-8

2.1E+7 X 24 x 365 x25E-19 x0.0022 /0.5 x 1E3

=3.4E-3{&Bq/B%
=9.7E-7{EBa/BELLT
=2.1E-1{&Bq/B}
=2.0E-TmSv/4&
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s X S @7 0-TOMNFI
DB S B Boyst 07 MIERE RTFRE 4 DI @PCVH A& Esys
B | %8 | Ba/om®) | FEm'/h) B Tk .
- Cs—134 | ND(3.7E-7) T S S— T T DS
Bl . ' =5
Cs-137 | ND(5.7E-7) y g SRR
A 245— V21% 2405—
o Cs-134 | ND(2.1E-7) 0000 - T A0 T HEa
Cs-137 | ND(3.3E-7) : > >
- N . o s . . 2404—
QR R Bsys AOXANAERRE (T O-TIMN R OEREASDIFEER)  QPCVHREHsys
FEWE | ®E | (Ba/em®) | RERA %iE (Bg/cm®) FmA | #%iE (Ba/cm®) | FRE(m3/h)
Cs-134 | 25E-7 Cs-134 3.4E-7 Cs-134 | ND(1.5E-6)
BiE 10/20 AiIlE 20
Cs-137 | 8.2E-7 Cs-137 9.5E-7 Cs-137 2.5E-6
2.7°0=79M R I D IERE D3R L 2 AT o7 S NDISES
qeg | R/BIFLBIOE TR R E(m®/h) CsmiST NDGSESG)
. DRAEMY/n) | HEKEEDFEE10,000m3/h) =
- b0 i EERE | #%%E | (Ba/cm®) | f=E(m®/h)
BiIE 23,829 13,829 —
BTE | Kr-85 | ND(5.8E1) 20
10/20 19,273 9,273
10/7 | Kr-85 | ND(5.8E1) 18
3.1 HH = 5 FRF DS fEZE R 2 5TE <A
BSERmEO =(2.1E-7+3.3E-7) X 10,000 X 1E6 X 1E-8 = 54E-5{8Ba/BFLLTF
BOP[#R % =(3.4E-7+9.5E-7) X 9,273 x 1E6 X 1E-8 = 1.2E-4{ZBq/HF
PCVAH X A(Cs) =(1.8E-6+2.8E-6) x 18E6 X 1E-8 = 8.3E-7{&Bo/B5 LT
PCVAH RH AKr) =58E1 x 18E6 X 1E-8 = 1.0E+1{8Ba/BF LT
PCVA AH OKr# <G =) =1.0E9 X24 X365 X2.4E-19 X 0.0022 /0.5 X 1E3 = 9.3E-6mSv/ELLTF
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DREF4F EER (B fIBg/cm?) RTFER @PCVH R EHsys
. BEFFE L RN T _ PCVHIAEHEsysHH O | RE
smal| #%
o = i) Lie) L FiE(m/s) Rk e (Bg/cmd) (m3/h)
g O3] NDQIE®) | 84E-s 1.6E-6 o E |l NDUOED) 19
] ;! o .
Cs-137| ND(3.6E-6) 2.9E-5 2.4E-6 Cielol ND(2.9E-6)
Cs-134| ND(1.2E-6) | ND(1.2E-6) | ND(1.2E-6) 10 15—t NDUSERD) 18
10/1 0.01 Cs-137 5.5E-6
Cs-137| ND(1.8E-6) 2. 5E-6 3.3E-6
. PCVHAEHEsysHHO | RE
- W ?
5 D B % B8 ST = R Ealemd) i)
(EHDORTEHENH DB S L. Cs134+Cs13TEHEN—BS L\ EREER) #1E | Kr-85 ND(6.2E1) 19
10/15 | Kr—85 6.6E1 18
XEFFELEMSHERE(E, H26.10.13R7E

DHERIFELEE (mY/s)&EA

2.1 = 5T
B2 (RFIFELER) =(1.2E-6+2.5E-6) x 0.10 ¥ x 1E6 X 3600 X 1E-8 = 1.3E-5{EBa/BEfLLF
S (HE58/\wF) =(1.2E-6+3.3E-6) X (0.01X5.6 X5.6)E6 X 3600 X 1E-8 = 51E-5{ZBq/BFLL T
PCVH X H A(Cs) =(1.8E-6+5.5E-6) X 18E6 X 1E-8 = 1.3E-6{EBq/BFLL T
PCVA A H AKr) =(6.6E1) X 18E6 X 1E-8 = 12{EBq/H%
PCVH R OKrK LR E) =1.2E9 X 24 x 365 x3.0E-19 X0.0022 /05 X 1E3 = 1.4E-5mSv/&
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. Cs—134 ND(5.9E-7) ND(5.8E-7) ND(5.9E-7)
st Cs—137 ND(9.5E-7) ND(8.9E-7) ND(8.9E-7)
o Cs—134 ND(5.9E-7) | ND(6.0E-7) ND(5.9E-7)

Cs—137 ND(9.6E-7) | ND(9.1E-7) ND(8.9E-7)

2BEH/N—FEEITMH
4,584m3/h (9/2~10/8)
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BEIMELADNA—DoDRERE
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- PRELEH LR - e
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BB | B gemEnn Ba/omd) | (mi/h)
Cs—134 ND(6.0E-7)
AilE 50,000
Cs—137 ND(9.5E-7)
Cs—134 ND(6.1E-7)
10/8 50,000
Cs-137 ND(9.5E-7)

FRFEOHRELE R =570 = F
(EHDOAEERINHDIBES L., Cs134+Cs137TRFHEN —B S LB ER)

= (5.9E-7+9.6E-7) x 4584 x 1E6 X 1E-8
= (6.1E-7+9.5E-7) x 50000 % 1E6 X 1E-8
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VO: S &UEER (m/s)

V1: A3 —FH A EE (m/s)
V2: h\— A EE (m/s)
V3: /3= A EE (m/s)
Va4: 73— ARE (m/s)
V5: /3= A EE (m/s)
V6 : HESURLE (m/s)

P1: EFREIE S (ALRE) (Pa)
P2: FiRIE S (dLRE) (Pa)
P3: LR EIE S (FRE) (Pa)
P4: TREIE S (FRE) (Pa)
P5:R/BHIE 71 (0Pa)
P:h/\—HAEH (Pa)

S1: AN—[EREERE (m?)

S2: H/N—[EREEE (m®)

S3: H/N—EREEE (m®)

S4: hN—EREEE (m®)
S5:R/BZERERIO EHE (m”)
S6:R/BRYHEA OB O E#E (m?)
S7:R/BIEE RO EE (m?)
S8: R A I MRAERE (m?)
0 ERBE (kg/m°)
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C2: REFHFEL R T

C3: BT R (FE & L)

C4: R E & k(7 A T )
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BEEVET HE, LRAL TRADEAIRDEEYERLS,
EFRAI(ALR) :P1=C1x p xV0"2/(2g) +++(1)
THA(ALR) :P2=C2x p X V0"2/(2g) =+ (2)

LB (FR) :P3=C3 % p X V0™2/(2g) -+ (3)
TFHRI(FER) :P4=C4 X p xV0°2/(2g) -+-(4)

RNEZP. ERABOERFREE S £T5HE

P1-P=¢ X p xV172/(2¢) = (5)
P-P2=¢ X p xV2°2/(2¢) - (6)
P3-P=¢ x p xV3"2/(2g) < (7)
P-P4=¢ X p xV4°2/(2¢) - (8)
P5-P=¢ X p xV572/(2g) =+ (9)

ERRHABDIANTVZARKIF

(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600=(V2 X S2+V4 X (S3+S4)+V6 X S8) X 3600

EDEEDOEENY IETHE

Y=(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600-(V2 X S2+V4 X (S3+S4)+V6 X S8) X 3600

Z1 1 SHEEN/N\—ORRFFTE

V1, V2, V3, V4, V5I&(5), (6), (7), (8), (KLY, POBEBLDT, IYIAEOITHEELSICPOELXRET S

VO ci c2 c3 c4 & )
(m/s) (kg/m%
0.95 0.80 -0.50 0.10 -0.50 1.00 1.20
St S2 S3 S4 S5 S6 S7 S8
(m?) (m? (m?) (m? (m?) (m? (m?) (m?
1.20 1.20 1.20 1.10 0.29 0.00 0.00 2.88
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.044204 | -0.02763 | 0.005526 | —0.02763 0 -0.01823
Vi V2 V3 V4 V5 V6
(m/s) | (m/s) | (m/s) | (m/s) [ (m/s) | (m/s) (m*/h)
1.01 0.39 0.62 0.39 0.55 0.00 0.00
IN ouT IN OuUT IN OUT(HER) OK
XIN  FEA
OUT: Fith
HRE=E 4936 m°/h
BRo7UVRE 0 m'/h
maE 4,936 m®/h
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9FH30H 10A18 10A28

R B | RARE [ RE B | RRE | RE By | RARE

(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h)
Fic) 2} 1.6 6.0 1,072 13 15 892 13 08 849
BER | 20 42 7,568 1.4 28 5,222 14 5.7 5,399
JEFER 15 20 6,749 1.0 30 4,727 12 2.7 5431
JedEFER | 1.7 13 8,638 13 1.7 6,495 1.0 03 4,936
4z 1.6 13 7,966 23 32 11,155 09 05 4,282
JdeEE | 18 05 6,498 24 08 8,681 14 0.3 4,966
LA 0.0 0.0 0 0.0 0.0 0 20 25 8,994
HLEA | 00 0.0 0 1.1 0.2 6,670 18 1.0 10,712
HE 0.0 0.0 0 0.0 0.0 0 13 05 8,529
HEREA| 00 0.0 0 10 0.3 5,760 14 0.3 8,185
FRE 1.6 0.3 7,220 1.7 0.3 7671 1.7 15 7,570
MEER | 22 0.2 8,092 12 0.3 4414 27 17 10,079
R 1.4 03 6,669 1.6 1.7 7,954 2.1 1.8 10,509
MEER | 24 0.2 12,470 18 6.0 9,526 20 33 10,158
AmEE 12 15 5,409 15 15 6,825 14 05 6,521
mEER | 13 43 4,904 1.2 03 4,326 13 0.3 4,890

(m3)

8206
i) 9/9 ~ 9/15|9/16 ~ 9/22|9/23 ~ 9/29|9/30 ~ 10/2 RREAEMI) | FHERRERGN) | FiRZEmM3/h)
@FE?;;’%;EE 1,375,801 1,137,776 2,075,196 464,704 5,053,477 576 8,773
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Va4: AN—AGRE AEE (m/s)
V5: A/ A—A G H A BE (m/s)
P:h/\—RAEH (Pa)

P1: EFRBIE AN (LR) (Pa)
P2: TiREIE A (ALRE) (Pa)
P3: EREIE A (FERE) (Pa)
P4: TiREIE A (FERE) (Pa)
P5:R/BAIIE 71 (0Pa)
S1:H/N\—ERIEE (m?)

S2: HA—RREIEHE (m”

S3: h/N—[ARIETE (m®

S4: H/A—TRRIEE (m”

S5: R KBS EHEMERE (mD)
0 ELRBE (ke/m°)

C1: AEREGELA LA

C2: REfREGELE T

C3: AT fRzk(F A LA

C4: BT fRE(FER T

¢ RARIEIMRE
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£52 4ASHIRHERELRAD/N\—0REEF

BEEVEY . LR TRADENERDESY ELS,

LiRAI (L) :P1=C1x o XV0"2/(2g)
THAI(LE) :P2=C2x p XV0"2/(2g) -+
bR (FER) :P3=C3X o X V0°2/(2g) +--
TRl (FEE) :P4=C4 X p XV072/(2g) =--

HNEZP. BESBOEBNRGZERE S ETHE
P1-P=¢ X o xV172/(2g)
P-P2=¢ x p xV272/(2g)
P3-P=¢ x o xV372/(2g)
P-P4=¢ X o X V4™2/(2g)
P5-P=¢ X p XV572/(2g)

(1)
(2)
(3)
(4)

- (5)
~e(6)
e (7)
< (8)
- (9)

ERRHBAEDTRANSVRAK I
(V1 X S1+V3 X S4+V5 X S5) X 3600=(V2 X S3+V4 X $2) X 3600

EDEEDDEEIYIETHE
Y=(V1 X S1+V3 X S4+V5 X S5) X 3600-(V2 X S3+V4 X S2) X 3600

V1, V2, V3, V4, V5(%(5), (6), (7), (8), (9)RIZ&Y. POEHAEDT. TYINEAIZHEDLIIZ

POEZRET S
Vo C1 C2 C3 C4 I3 o)
(m/s) (kg/m®)
1.78 0.80 -0.50 0.10 -0.50 2.00 1.20
St S2 S3 S4 S5
(m? (m) (m?) (m) (m)
0.44 0.81 0.46 0.81 4.00
P P2 P3 P2 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.155769 | —0.09736 | 0.019471 | -0.09736 0 —0.00067
\4 V2 V3 V4 %] Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m®/h)
1.13 0.89 0.41 0.89 0.07 0.00
IN ouT IN ouUT IN OK
XIN  FRA
OUT: it
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4,037 m*h

FEIBAE ECER

SE2 A5HIRHERELRA/N\—0REEF

ECEDRRETHE (—BD

10878 10A8H
& BR | RAE | A& BRI | miEE
(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
i) 15 58 0 1.7 83 0

wEALAER | 21 12 4,738 20 38 4,632
Elq:::0 1.2 40 2782 14 13 3,004
JedeEm | 21 33 4777 18 10 4,037
JLE 24 08 7,608 16 02 5,030
JEEE [ 29 08 6,610 23 05 5,282
El4-9: 32 1.7 7,245 26 15 5,804
RHLEER | 22 23 4916 27 2.3 6,036
HE 19 13 5,062 20 13 5368
HERE| 16 08 3,546 2.1 08 4,624
EY:Y 14 05 3,067 20 0.8 4,444
mERA| 13 0.8 2,999 1.8 07 3973
HA 0.0 0.0 0 16 05 4,903
mEER | 11 0.2 2,462 1.3 05 2,984
i) 1.4 0.2 3,142 16 02 3,591
wEEE | 11 0.2 2,469 1.0 02 2,245

fﬁf%m%)i 83,056 74,465

1675 EBDFIREERNSKRRZAMEDX DICFHD I D.

= REBSE

9/2

9/8

9/9

9/15 | 9/16

9/22

9/23

9/29 | 9/30

10/6

10/7

10/8

RHEEBAIMI)

ELPRESILIGH

TRBEm3/h)

846,704

691,432

555,609

1,064,243

754,986

157,521

4,070,495

888

4,584
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